Dr 1-6CD>
1+225.000

< —H
™ am
00+ a3 06 G - B oo SEEEE
- 0G'9-{82'C53187'56Y
- 16'G 91 782191287
R CLR AR A MAYA
- 0L’ -8 ISEEY T8T
RAA & A ANAYS L g0y 19918z TeE - CGY ¢ TEESECCE
R A2 AN
- 062 8G°283196'16] L 9p7 -hezezlec el 09T L£CEEWT €5
- GL') 129788(S6'16E] -1 SR TEEHCTCY TAE AR ARG
o 33 - 98°0-{88°75E{GE 75T 3 ~
O M o N O —
i~ -000-L9TeEeeIeE 1 TS r0oopezeEeeeE | L i -00'018Y'£CE108 IS
o al a
<+ C ¥ C 4+
/- A — 68'0—88'7erEC e |8 —
1L | ~H9'TETHE'IET 1L | SR TEEHE 76T 5L I ~12Y LG TE
H0S T~ S TeeHE 15T HGT—H8782160'15E, H0G T~{8S"£5219/ 76
NS N4V ALY
1067 —~160"1SZ188'15Z] 156 ~HE 183628 H0'G—{£8'1$2199°76F
HO'9—{GL ISEET T8E
EARERG LY 1999~ | 702110267 089~ S TEEHS LT
86+ 98462 64 56257 " —, 196 YEEEE
X &
o o o
o = o = ko] =]
°lo| 8 s |@|¢8 s |88
2190 |6 L1 o5 2o | o
o = 9 &) = - [&] = —
T | K I S Q| |y
[ ] c c (0] c = [} c
=} c o > o o > c o
S|y |& S|y |& S|y |&
™ [aen) —H < —H
™ (40 oo, ™ (402
P e £8152 o 58757 P 2 £257
AR TANYA AN
F6°G118°I€E{L8 I LR orardwATrArdya
-Gh Y 1 ISE6L187] ooy dogiczlvzzcel A A TANAYA (YA
- 06T HETSEHRY 1S L ivzdorzselzrese AHA AN RN
- QL1 H90°Z8E09'18] - GLLHGLTSBHT TS - GL'L8S"C5ER0'06Y
= o8
0 2 0 9
-000-£82e8es IeE |1 83 -000-je8zegl sl | L B -00°0-{£4'C5E8Y 75T
[qV] [qV]
C o+ C o+
A — A —
1L L —~ES TEREY 18] 1GL L ~{GLTSBL LTS 161" | ~{8S"£5E109°75E
H0S 718226 316¢°16] H0G'T—0LT8E91 TS H0G 7196 "05 319/ 6
1987 ~{£8'08GHS 15T 6 7~HT ISHTL T8 20'S—18L 1SEHI T
M 1G6'G~108 182105162
eq'9~ls0z02l60 702 HG'9—{26 283126267
LR e e N 66462 e, 186 BOEEE e |, 1664 64252
T8 4 & T g Q@ & &
o o o
ko) = i) 3 k] =
o lg o lg s 5|3k
=10 | o 21O | o = | 9| @
(8] L=] - (8] L= -— [$] L= -
o | © © o | © ® o | © o)
c 0] c c (0] c c o C
>S5 c o > c o] > c o]
w | O fo8 w | O 59 (22 [0
jol (0] N o [0 N o o N
O | N |x O | N | O | N |

str 12



AutoCAD SHX Text
str 12


	Arkusze i widoki
	Model


